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It's summer time.
Hugo is in the park.
He’s reading a book.

He’s drinking ice tea.

A wasp is flying around.

Hugo doesn’t like wasps.

Wasp stings are very painful.
Hugo says: “Get away from here!®
But the wasp doesn’t fly away.
Hugo hits the wasp.

Now the wasp is back in its nest.

It says: “That bad boy over there has
hit me hard.”

The wasps say: “Revenge!”
Hundreds of wasps leave the nest.
They fly towards Hugo.

Hugo runs away.

Rodan the rat drinks the tea.

Put into the present continuous tense:
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